Installation Guide

Panel Through Mount Kit

1 Introduction

1.1 Field of Application

The Panel Through Mount Kit may be used where the heat sink can be cooled by an external air stream, or where there is a wish to
use a separate air duct. The electronics are sealed from the external air by use of the mounting flange and sealing gasket, whereby
the electronics are housed within the control panel, while the heat sink protrudes through the panel.

Always mount back plate and fan when the drive is put in an air duct.

The gasket offers a dust and water tight seal to IP55 for the back chassis of the drive. The front cover is reduced to IP20 as the Panel
Through adds space around the LCP, which the LCP gasket and front cover cannot absorb.

The ambient temperature, on both the control panel side as well as inside the duct, must not exceed the maximum ambient tem-
perature for the drive.

1.2 Code Numbers for Ordering

Table 1: Code Numbers

Enclosure size Code number Back plate (separate delivery)
A5 130B1028 130B1098
B1 130B1046 130B3383
B2 130B1047 130B3397
cl 130B1048 130B3910
(@) 130B1049 130B3911

Danfoss A/S © 2023.02 AN437237990171en-000101 / 130R0027 | 1



Panel Through Mount Kit

Installation Guide

Danfilt

Installation

2 Installation

2.1 Drive Main Dimensions

332 mm

510 mm

570 mm

Illustration 2: B1 Enclosure

=120 mm—-80 mm

=

e30ba763.12

=
b

I

e30ba691.13

2 | Danfoss A/S © 2023.02

AN437237990171en-000101 / 130R0027



Panel Through Mount Kit M

Installation Guide Installation

332mm —+ —151 mm—108 mm

e30ba694.13

[T

740 mm

A

o [+] o
W
Illustration 3: B2 Enclosure

366 mm e
— 160 MM—— 147 mm —
[N}
e}
= ©
Ke)
o] o o o
m
[

i3

776 mm

B A TTTTTTH
Hlallallalallalallal

1
1

LB Thy

Illustration 4: C1 Enclosure

Danfoss A/S © 2023.02 AN437237990171en-000101 / 130R0027 | 3



Panel Through Mount Kit M

Installation Guide Installation

448 mm — 161 mm————173 mm—

e30ba700.12

P v — =] “

L]

%) :
10 LN ]
o o
£ e L
g Q=3 g g gtﬂ o0 °
T 1
D °
e
o
o °
o||[o]||o|[|F=
o|| (o] ||o]| (o] & -
CHIEHENEN 5 §
Cposk (o (i (Cpom D
@D o
ium |_© Jon nom mom |
Ao oT7| © 3
(] (<} o

Illustration 5: C2 Enclosure

4| Danfoss A/S © 2023.02 AN437237990171en-000101 / 130R0027



Panel Through Mount Kit M

Installation Guide Installation

2.2 Preparing the Panel Cut-out and Fixing Holes

Ensure that the cut-out dimensions are accurate and that sharp edges are removed.

Procedure
1. Create the cut-out and the fixing holes according to the templates shown:

o
©
~N
3
£ o
140 140 £ 3
o
n
£
— €
0 Remove
2 " material
n /
N
in | - /7 S
g 8 ¢
< 10x 9.2
| for steel blind
A rivet nuts M6x30
(flat head)
wn
wn
- \
+ £
246 €
o
263+20 0
£
€

Illustration 6: A5 Enclosure

Danfoss A/S © 2023.02 AN437237990171en-000101 / 130R0027 | 5



Panel Through Mount Kit M

Installation Guide Installation
s
[eX}
O
3
€ =]
€ D
o
140 140 2
£
=
Q \ - Remove material
RS
< 0 10x 29.2
ol & for steel blind rivet nuts
gl = | te M6x30
(flat head)
4/
wn
~ \
€
242 g
261420 )
£
=
Illustration 7: B1 Enclosure
o
(o)}
O
£ 8
£ R
140 140 o ]
wn
£
€
o \
] | — Remove material
//
wn
° - o 10x 29.2
~ 0 s
5 o \© for steel blind rivet nuts
S| M6x30
(flat head)
o
m
o~
€
242 §
261*20 D
£
€

Illustration 8: B2 Enclosure

6 | Danfoss A/S © 2023.02 AN437237990171en-000101 / 130R0027



Installation

Panel Through Mount Kit

Installation Guide

AN437237990171en-000101 / 130R0027 | 7

L1'969eq0¢E°
2
>
c
© =
2 <
5 "
2 £
o 5 v
NG m 3
QLR < m
X 288 =
—ezE ww o5 1 U
ww gL "ulN
849
S S o § S
N N N
N
7 / \ /// N /// ///////
o A A Y AN AN
= R Tt Y / //
NN °
3 / N N i
NN N\ b
NN NN n| n
NN N\ HEN
ATRTTUR TR UTA TN TG /4/LV/A DA
/ S R T S R TR N ol 9
VRN N\ i
N // / N N
o /// // N TN NN RN R R RN
= R A N T N
- AT AT AR (Y
N N \
- [ S IR ¥ -
oclL
ove ove ove
02.669

Illustration 9: C1 Enclosure

Danfoss A/S © 2023.02



Panel Through Mount Kit M

Installation Guide Installation
2
8
€ o
200 200 £ 2
o [
wn
£
- _—— - — — % =
7, / 7, 7 Remove material
ORI
7,7, /// 7, s |
v , 7 v
- // / /;; T 10x ©9.2
N Z 7, ” 7 ind ri
N ///// ///// /////.// for steel blind rivet nuts
///// ///// ;; 55 | M6x30
/ 0 / 77 (flat head)
7
Z
v, 7, /7 s/
ANy 7 s
s
f/ /7 77
ol \750077
~ //f/f/ /////
ol m v v/ 77 /7
~ — 7 / / |
¢ o7 oz /7 77 n
3| w0 ;5/%/% A8
Nl ~ i ~
/// T 2z |
v/ 77 77 as
00
7
0
A
é/%ﬁﬁé“%@
7 7 7
52%25 /// ‘
7 7 7
77 /7 s 9 7
2 ////// 7,000 I
~ 7, 7, 7,
) 52%//// e
77 7 2 7,
77 //////// /////// ////// !
7 % 7 7 ‘
*L £
373.5 E
wn
386.75%2, =
£
=

Illustration 10: C2 Enclosure

2.3 Assembling the Mounting Flange
Procedure
1. Fitthe sealing on the flange.

e30ba766.12

2. Assemble the flange for the drive using the supplied screws and captive washers.
3. Torque the screws to 2.2-2.5 Nm (19.5-22.1 in-lb) using a Torx-20 tool.

If the drive is to be mounted through the front of the panel, assemble the flange so that the raised edge of the flange
turns upwards (towards the electronics). If the drive is to be mounted from the rear of the panel, fit the flange with the
raised edge facing away from the electronics.

8| Danfoss A/S © 2023.02 AN437237990171en-000101 / 130R0027



Panel Through Mount Kit M

Installation Guide Installation

2.4 Mounting the Drive Through the Panel

Be aware that the plastic cover must be mounted for the kit to comply with CE and UL requirements.

Procedure

1.

Mount the flange on the drive.

4x M4x12mm
(Torque value:
2.2-2.5Nm
(19.5-22.1 in-Ib))

e30ba764.12

Mount the drive through the cut-out in the panel. Make sure to position the heat sink carefully through the cut-out to avoid
damage to the gasket.

Secure the unit using suitable nuts and bolts in the fixing holes.
Mount the cover on the flange and secure it with either screws or spacers and hooks in the remaining screw holes.

e30bb253.12

2x M4x20
(Torque value:
2.2-2.5Nm
(19.5-22.1 in-Ib))

2x M4x16
(Torque value:
2.2-2.5Nm ,
(19.5-22.1 in-b)) 4xblind
plug

lllustration 11: A5 Enclosure

Danfoss A/S © 2023.02 AN437237990171en-000101 / 130R0027 | 9



Panel Through Mount Kit

Danifi

Installation Guide Installation
o~
<
Q
Qo
M5x18mm 3
(Torque value: &
2.2-2.5Nm
(19.5-22.1 in-Ib))
4x M5x25mm

Attention:
Make sure that the spacers
are oriented as shown.
The illustration shows
left spacer.

26.5x5x4mm

3.5x6mm
(Torque value:

1.0 Nm (8.85 in-Ib)) 3.5x6mm

(Torque value:
1.0 Nm (8.85 in-Ib))

3.5x6mm /?
(Torque value: 2 S GHiGD

1.0 Nm (8.85 in-lb)) (Torque value:
1.0 Nm (8.85 in-lb))

lllustration 12: B1, B2, C1, and C2 Enclosures

with nylon washer
(Torque value:
2.2-2.5Nm
(19.5-22.1 in-Ib))

Attention:

Make sure tat the
spacers are
oriented as shown.
The illustration
shows right hook
and spacer.

B enclosure

Danfoss A/S

Ulsnaes 1

DK-6300 Graasten
vlt-drives.danfoss.com

Danfoss can accept no responsibility for possible errors in catalogs, brochures, and other printed material. Danfoss reserves the right to alter its products without notice.
This also applies to products already on order provided that such alterations can be made without subsequential changes being necessary in specifications already
agreed. All trademarks in this material are property of the respective companies. Danfoss and the Danfoss logotype are trademarks of Danfoss A/S. All rights reserved.

* 1 3 8 R ® ®8 2 7 =

10 | Danfoss A/S © 2023.02

* M ®» ¥ 4 ¥ 9 8w 1 *

AN437237990171en-000101 / 130R0027



	Panel Through Mount Kit
	1 Introduction
	1.1 Field of Application
	1.2 Code Numbers for Ordering

	2 Installation
	2.1 Drive Main Dimensions
	2.2 Preparing the Panel Cut-out and Fixing Holes
	2.3 Assembling the Mounting Flange
	2.4 Mounting the Drive Through the Panel



